
=$.21
=$�=$'2/#89$:(�1$�5(38%/,.$�0$.('21,-$�62�=$(0�.$-�0(?81$52'1$7$�%$1.$�=$�2%129$�,�5$=92-��,%5'��=$�5($/,=$&,-$�1$�352(.727�=$�35(6758.78,5$:(�1$�),1$16,6.,27�6(.725�,�6(.72527�1$�35(735,-$7,-$7$��)(6$/��

AOHQ��5HSXEOLND� 0DNHGRQLMD� VH� ]DGROCXYD� NDM� 0H_XQDURGQDWD� EDQND� ]D� REQRYD� L�UD]YRM� �,%5'�� VR� ]DHP� YR� L]QRV� RG� ����� PLOLRQL� DPHULNDQVNL� GRODUL� QDPHQHW� ]D�UHDOL]DFLMD�QD�3URHNWRW�]D�SUHVWUXNWXLUDZH�QD�ILQDQVLVNLRW�VHNWRU�L�QD�VHNWRURW�QD�SUHWSULMDWLMDWD�
AOHQ��8VORYLWH� L� QDaLQRW� QD� NRULVWHZH� QD� ]DHPRW� RG� aOHQ� �� QD� RYRM� ]DNRQ� VH�XWYUGXYDDW� VR� 'RJRYRU� ]D� ]DHP� SR� 3URHNWRW� ]D� SUHVWUXNWXLUDZH� QD� ILQDQVLVNLRW�VHNWRU��L��VHNWRURW�QD�SUHWSULMDWLMDWD�NRM�`H�VH�VNOXaL�PH_X�5HSXEOLND�0DNHGRQLMD�L�0H_XQDURGQDWD�EDQND�]D�REQRYD�L�UD]YRM�9R� LPH� QD� 5HSXEOLND� 0DNHGRQLMD� GRJRYRURW� RG� VWDY� �� QD� RYRM� aOHQ� `H� JR�SRWSL^H�0LQLVWHURW�]D�ILQDQVLL�LOL�RG�QHJR�RYODVWHQR�OLFH�
AOHQ��5RNRW�QD�RWSODWD�QD�]DHPRW�RG�aOHQ���QD�RYRM�]DNRQ�H����JRGLQL�VR�YNOXaHQ�JUHMV�SHULRG�RG�RVXP�JRGLQL�=DHPRW�VH�RWSODWXYD�YR�SROXJRGL^QL�UDWL�NRL SULVWLJQXYDDW�]D�SOD`DZH�QD����MXQL�L����GHNHPYUL�VHNRMD�JRGLQD��SRaQXYDM`L�RG����MXQL������JRGLQD�L�]DNOXaQR�VR����GHNHPYUL������6HNRMD� UDWD� `H� VH� RSUHGHOXYD� NDNR� SURL]YRG� RG� YNXSQLRW� L]QRV� QD� ]DHPRW� L�SURFHQW�QD�RWSODWD�QD�UDWD�YU]�RVQRYD�QD�GRJRYRUHQLRW�DPRUWL]DFLRQHQ�SODQ�
AOHQ��.DPDWDWD�QD�]DHPRW�H�/,%25�������]D�SUYLWH�aHWLUL�JRGLQL��RGQRVQR�/,%25��������]D�SHULRGRW�SR�L]PLQDWLWH�aHWLUL�JRGLQL�.DPDWQDWD� VWDSND� L� YR� GYDWD� SHULRGL� `H� ELGH� QDPDOHQD� ]D� ������ JRGL^QR�GRNRONX� 5HSXEOLND� 0DNHGRQLMD� UHGRYQR� JL� SOD`D� REYUVNLWH� SR� JODYQLQDWD� L�NDPDWDWD�.DPDWDWD�RG� VWDY� ��QD� RYRM� aOHQ� VH� SOD`D� SROXJRGL^QR�L� WRD� QD� ��� MXQL�L� ���GHNHPYUL�VHNRMD�JRGLQD�



AOHQ��5HSXEOLND� 0DNHGRQLMD� ]DHPRW� RG� aOHQ� �� QD� RYRM� ]DNRQ� `H� JR� RWSODWXYD� RG�%X[HWRW�QD�5HSXEOLND�0DNHGRQLMD�
AOHQ��2YRM� ]DNRQ�YOHJXYD�YR� VLOD� VR�GHQRW�QD�REMDYXYDZHWR�YR� �6OXCEHQ�YHVQLN�QD�5HSXEOLND�0DNHGRQLMD��


